OPERATION, SERVICE AND PARTS
INSTRUCTION MANUAL

€ GREENLEE

79045SB/79065B

QUICK DRAW 90"
HYDRAULIC PUNCH DRIVER

For units with serial code “WV”’

Read and understand this material before operating
or servicing this equipment. Failure to understand how

to safely operate this tool could result in an accident
causing serious injury or death.

\. J

999 8832.1 © 1997 Greenlee Textron IM 1024 REV 6 7/97



@GREENLEE 7904SB/7906SB Hydraulic Punch Driver

(6€ ‘L€ ‘GE-€€ 'TE ‘€2 ‘ST T1-8 ‘)

‘'sasenbs »oe|q ul pakay swall
sapnjoul 1y sreday olnepAH 5262y €05 [

(€ pue gg Jo auo ‘gz ‘9T)

"S3[0410 Y2e|q Ul pakay swall sapnjoul
Y] dreday 1UN aAjRA asealey 2 9621 £0S ‘

Suy| Jreday

‘ @
.,@%/ﬁ@
Qé Yo n
&< © O m
e ©

*

Exploded View
Serial Code WV

4455 Boeing Dr., Rockford, IL 61109-2988 815/397-7070

15

Greenlee Textron / Subsidiary of Textron Inc.



@GREENLEE 7904SB/7906SB Hydraulic Punch Driver

Parts List

P
fD@\lCDU‘I-bUOI\)I—‘g

A D B DD W W WWWWWWWWNDNDNDDNDDNDNDNDNDNDDNDNERERERRERERERERPRPRLPR
g b WP O O O NO O A WDNPFP O OO NO OO0 WNPEPEP O ONO O MWNDNDPREO

PART NO.

503 5408.6
503 4273.8
503 3790.4
503 3791.2
503 3792.0
905 0292.2
503 3907.9
905 3847.1
905 1316.9
905 3849.8
905 1330.4
905 1032.1
905 3771.8
905 3850.1
905 0168.3
503 1878.0
503 4301.7
502 3258.4
503 2488.8
503 4281.9
503 4285.1
503 4275.4
503 4268.1
503 4274.6
503 4276.2
503 4266.5
503 4265.7
503 4269.0
503 4286.0
503 4287.8
905 0678.2
905 3854.4
905 0458.5
905 1456.4
905 3853.6
905 3844.7
905 3846.3
905 3845.5
905 3852.8
905 3869.2
905 0753.3
503 4278.9
905 3855.2

DESCRIPTION QTY.
Cylinder, angle driver ..., 1
BIOCK, PUMP ..ttt 1
Ram, right angle driver ..........cccccccn, 1
Retainer, SPring ....ueeeeeeeiieieeeee e 1
COlIAF e 1
Ball, steel, .218 diameter.........cccccovvvvvieiiiiiininennnn, 2
Spring, compression, 1.34 x 1.65 x 1.76............... 1
Back-up ring, spiral, 1.00 x 1.24 x .027 Teflon ..... 1
O-ring, 1.50 x 1.75 x .125 Nitrile .......cccvvvveveeeennnn. 1
Back-up ring, spiral, 1.50 x 1.74 x .027 Teflon ..... 1
O-ring, 1.00 x 1.25 x .125 Nitrile .........ceeeveereeeennnn. 1
Screw, set, #8—32 x .187 socket cup point ........... 2
Screw, set, 1/4-28 x .250 socket ...........ceeeeeeeeeneen. 1
Back-up ring, .375 ID ..o, 1
O-ring, .375 X .500 X .062......cccevviiiiiiiiaiiaaaaaaa, 1
DECAI ..veiiieiiiiieie e 1
Decal, identification ..........cccccoveiiieeieiiniiiiiee e 1
Grip, .600 X 1.00 X 4.50 ...cccvvieiiiiieeeeeee e 1
Plug, bladder .......ccuvevviiiiieeiiie e 1
Handle, reServoir ..........cuvveeeeiiiiiiiee e 1
Handle, PUMP .o 1
Seat, intake Check ..., 1
PIUNGE e 1
FUICIUM POSL ..., 1
Retainer, discharge check.............cccccooiiiiiiiiiis 1
Knob, release valve.............coooiiiiiiiiiiiiiiiciceee, 1
Stem, release ........occiuuiiiiiiiiieeieee e 1
Bladder .....ocvveeiiii 1
Pin, handle ..o 2
Spring, compression intake ...............oceeeeeeeeecnnnns 1
Ball, steel, .187 diameter..........ccccvveveeeviiiiiiieeeeennns 2
O-ring, .250 X .375 X .062.....cccevvvviiiiieeiiieeeeeeeeee, 2
Pin, roll, .125 X .375 ..o 1
O-ring, 1.12 x 1.31 x .093 Nitrile .........cueeveeereeeeneen. 1
Back-up ring, .250 ID ..., 1
Retaining ring ..o 4
Pin, Drive-Lok, .25@ X 1.00.........ccccccuuivmriiiiiieieeneen. 1
Spring, compression, .152 x .180 x .380............... 1
Washer, COPPEr .....oovviiiiiiiiii e 1
Spring, COMPreSSIoON ......coeeeeeeeviiiie i 1
Screw, set 1/4-28 x .187 socket ........cccccveevininnnen. 1
Cap, reservoir handle ................ccccceccviviiviiiieeee, 1
Pin, drive, .125 diameter .........cccccvvvvvieeeniniiinennn. 1

Greenlee Textron / Subsidiary of Textron Inc.

16

4455 Boeing Dr., Rockford, IL 61109-2988 815/397-7070



@GREENLEE 7904SB/7906SB Hydraulic Punch Driver

Draw Studs and Accessories

CATALOG NO. PART NO. DESCRIPTION QTY.

29451 502 9451.2  Draw stud, 7/16" stainless steel

(OPLIONAI) ... 1
31872 503 1872.1  Draw stud, 3/4-16 X 4.12 ........cecevvrvnnnen. 1
31874 503 1874.8  Adapter, step-saver

(OPLIoNAI) ... 1
1924AA 500 3248.8  Spacer, .767 X 1.37 X .875 ..cccoovvveeriinn 1
1614SS 503 0043.1  Screw, 3/8" short adapter ........................ 1
33967 503 3967.2  Adapter, stud, 3/8-24 x 3/4-16 ............... 1

Greenlee Textron / Subsidiary of Textron Inc. 17 4455 Boeing Dr., Rockford, IL 61109-2988 815/397-7070





